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) B lal=y(a,)" +(a,) +(a;)* © BLZIE EHEb=biX+bj+bZ o I B! = (b)" +(b,)° +(b,)*
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Sabita b taby o ABMEBMAIDAES AR - Blalbl(cosd) « AR 0 B R A BRI A -
FreEmEE a Mb NS (EERREE > B%Eaxb) » E5%5 ¢

x 3y Z
axb =[al a, a, J = (azhs — a3b;) X +( asb1—arbs) § +( arby— b)) Z S—ERIMEN TR B IR S L
b, b, by

1 - Blaxb BYEERlaxb = lallbi(sin6) - Fi51H (BIE=1) BidEETEA > FREER a flb K - =R
HEFER  RIEEEFHINES R 2 BENb (5 REM » BIHESSHS EEaF RS - EESh -

TREBZN=ELTAEEROENE : Xx9=2 > jxZ=%; ExZ=p o

T EAMGR Bk £ R x B9SKBY - Bl £A(x) » BB F00FT o(x), B LIETE Rk £ g~ Fre8 dffdx » B f
H x0T EFRHE B 0B » (fxrh)-f(x) Vh B9(E - {EESE AR dev/dx = nx™l; dsin(x)/dx = cos(x);
deos(x)/dx = -sin(x); d(Inx)/dx=1/x; de*/dx =e* ; B —L&¥ F AR product rule: d(fg)/dx = (df/dx)g + f(dg/dx), E[I
TERINBEERENSY - SRATENHARMEE - I EEWMORMBIE ;. chainrule: 2 =) H x=x(t) »
Al dffdt = (df/dx)(dx/dt) - B £ %f x BRI TELL x 3 t B4 -

BAERNS [ f0dx=F()+C, BEMF & f RS, B dF/dx=1 1 C B8, Fil § x7dx = x™/(n+1)
+Co HIRAFFIRA L TIE, Bl x=a FE4 3 x=b, BIREAMEES F(b)-F(a) (AFEMLEHC) . BR
u il v E&Ax R, B §udv=uv-§ vdu (5-EFED).
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1. BRUTERYELFAESNRRTERIE? A BENESECS AR TERUEERE. . SEENA
HEERAE. C HEWERAKZERUEFEEENTS, W m?. D BlRttEREE.

2. FEANTE s Bz lFF bR IINER 10 m/s (BIEH 10 ARIER), FE TR 5 D ERERENES
EENRER, RIERLE 102 PIARBTLE? AS0m. B.75m. C.100m. D.125m,

3. RAEFEHMERE, ZREOTE, SHIENEEK. WEEET Y REEES [ 5E
TREAERTEAK? A F80 B. %8 c £ b. 5.

4. BRB/MIEE, UTMERIE? A NE—HH(RER) MEDEES T —E £ 4005 & (MR BE R
b, B. MRRBAERBERRBERNZR, WERMEE. ¢ BENE 18 iRk m o) e
PR, GniffsbBEsr. D. B8R R B RN A8 A S IA LA BhiE B3R

5. EERAEYINENAREAM EERNABRRE  HESRE - EREEESE - BEERERE A THERE
B B. UARES (ENEBERAFT—E, A —ER#ELIER). ¢ WELARETF. D M k.

6. BKEFETHIRER, TWEFRESHE. HREFNENME UTTEAIE? A SEFEFSHERK
RAAHASRAHNEEIEE. B SANETE, HIEERRTENEE. c EFERgRbEE
WInTfrgé. D. NVEEBSZE], HEE)IE SR SRR T RIEL.

STERE

1. (10%) If f(x)= x*sin(x), then what is df/dx ?  If g(x)= In(x®) + 4cos(x), and x= €%, then what is dg/dt = ?

2. (10%) Function f{(t) is defined for positive values of t. The Laplace transform of f(t), denoted as .Z{f(t)}, is defined
as:

-]

Af(t)=Fs)= [ esf(t)dt
0

That is, after the transform, f(t) becomes a new function F which is a function of variable s.
Show that £{t }=1/(s?). Also, suppose df{(t)/dt =f'(t). Then show that.2{ f (t)} = sF(s)-f(0). You may need to apply

integration by parts for the calculation.
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3. (10%) H—EFHFHER AEER ma)H5—FF1E3k B(E 8 me)284: IEHIHVEE MRS (IR A2 B B A
EIREER~TIRD) - METERR A K58 » B BIVE A (NEES S ERTE » HRHEE MR EEEEE S EHEE -
3.1. BRI EREVERZ R B va 82 v o 3B BIARIEEN B PR IBIAESF IS R ER (st -
3.2 MR A ERVREAEC > ST ma B me HYRE (L -
4. (15%)(EEHERES ™ H T EHVEERER: - BE SR B E e AN = B T E ER B A B R Ea,,

ay, and a, » EERNEFS R EE RSB =EE A EE BN S5 R Eb, by, and b, - —EI44ETI{EEE
RRGES » T REFHRGIEEEE - HIEEL45B £Z b(RaFGREFEET A5 -

4.1. Hb B a, ES, FHEMEE b AR o FIEELS A 1 ay, a, KEF -

42. 3% O BB B WSLIERE P AL E, BIE O 453 P BIAL B B8 rop = Rby = R(ascosd- a,sind). BI4E
A BERR RGBS P BRI RS Ave=Adror/dt = R(-a,sind- a,cosd)(dd/dt) « 3EHE Adrop/dt BTN A BIER L
¥ rop BATR M (LB ay, 2, 7F A BERFTFEERE), WTEREL). MHAFR, HHEP KN
EE, BIETE Ad(hwe)/dt

4.3. FIfkMERER O BEE, EERME Q BRAINLE . sErtEft A BIE RGN Q BhlE.

daz
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5. (10%)%ESEIJ—EEHM&?J%EHEE%E’JEM’E#D‘FIAFET AUEHY E R EIAIEBATR - FIEEE-m - EHYEE
=M, ENnEE=g. FIEELEFIOMKNERAD, EivE LEOMMERAL. —EIEMTENE
FRERORERIIERERd. B DEHATEEN MR T AR M F,, ZEMATH FEHmE
RRIRFRO. FRATERIEF IR - BRI S EEA S RO -

5.1 BRI NSRS S B0 EE: - SBFIHFEEEY 52t -
52 BEHETHE, UF,F,0, m,M,g d, D, and LAEER.

6. (15%) —BEEEHRERILFG > NER-L 28T » UK TEIERBER 0 - ZREREIE
56 L MEEBELIERE T, WREE TRRERTERA —SMEEEs B2, BEMEEES, EF
RPEREAMA S EFINEER-g) -
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6.1 TEEBREZINERE R ?
6.2 EARUS Z BRI ST A R A ?
6.3 EIFEIKFENS - BIERGEERSTE - HIeRE TS RERSETR?




